	Number of		Yield per	Total	Units of	Gross Farm
Crop	Producers	Acres	Acre	Production	Measure	Value
COTTON						
Lint - Non-irrigated (Total)		18,232.0	850.00	15,497,200	lbs.	\$6,973,740
Cotton (Total)	58	18,232.0				\$6,973,740
FORESTRY						
Pulpwood						
Pine				118,843	cords	
Hardwood				23,098	cords	
Pulpwood (Total)				141,941		
Chip & Saw (Total)				8,205	cords	
Saw Timber						
Pine				51,477,697	board feet	
Hardwood				2,754,639	board feet	
Saw Timber (Total)				54,232,336		
Total Pulpwood, Chip & Saw,						\$39,947,364
Saw Timber FOB Mill						
Total Forestry Stumpage						\$23,863,636
(Total)						
Christmas Trees (Total)	*			1,050	trees	\$42,000
Pine Straw (Total)	*			3,000	bales (40 lbs.)	\$6,000
Forestry Seedlings (Total)	*	10.0	7,500.00	75,000	seedlings	\$2,625
					(1,000)	
Forestry (Total)		10.0				\$39,997,989
FRUITS						
Blueberries (Total)	6	8.0	800.00	6,400	lbs.	\$10,240
Mayhaws						
Native	12	45.0	40.00	1,800	lbs.	\$1,980
Orchard	*	12.0	740.00	8,880	lbs.	\$11,544
Mayhaws (Total)		57.0				\$13,524
Peaches (Total)	*	10.0	200.00	2,000	bu.	\$80,000
Fruits (Total)		75.0		,		\$103,764
FEED GRAINS		,				. ,,
Corn (Total)	60	6,578.0	130.00	855,140	bu	\$1,872,757

PLANT ENTERPRISES PRODUCTION

KAFIDES FAKISH	AATIDES FARISH PLANT ENTERPRISES PRODUCTION							
	Number of		Yield per	Total	Units of	Gross Farm		
Crop	Producers	Acres	Acre	Production	Measure	Value		
FEED GRAINS								
Grain Sorghum (Total)	48	4,505.0	75.00	337,875	cwt.	\$1,209,593		
Feed Grains (Total)		11,083.0				\$3,082,349		
HAY FOR SALE								
Grass (Total)	145	6,000.0	1.50	9,000	tons	\$540,000		
Hay for Sale (Total)		6,000.0				\$540,000		
Home Gardens (Total)	1,000					\$260,000		
NURSERY CROPS								
Fruit and Nut Trees (Total)	6				acre	\$400,000		
Floraculture & Bedding	7				acre	\$4,250,000		
Plants (Total)								
Woody Ornamentals (Total)	277				acre	\$40,000,000		
Foliage Plants (Total)	32				acre	\$2,000,000		
Nursery Crops (Total)						\$46,650,000		
PECANS								
Improved (Total)	11	300.0	430.00	129,000	lbs.	\$167,700		
Native (Total)	60	225.0	100.00	22,500	lbs.	\$20,250		
Pecans (Total)		525.0				\$187,950		
Rice (Total)	15	7,788.0	68.00	529,584	cwt.	\$3,733,567		
Soybeans (Total)	115	20,214.0	38.00	768,132	bu.	\$4,539,660		
SUGARCANE								
Raw Sugar (Total)	25	11,146.0	5,180.00	57,736,280	lbs.	\$7,084,242		
Molasses (Total)		11,146.0	155.00	1,727,630	gal.	\$362,802		
Sugarcane (Total)		11,146.0				\$7,447,044		
SWEET POTATOES								
Canning (Total)				10,800		\$21,600		
Fresh (Total)				25,200		\$371,700		
Sweet Potatoes (Total)	*	120.0	300.00	36,000	bu. (50 lbs.)	\$393,300		
VEGETABLES								
Cabbage								
Fresh	*	12.0	250.00	3,000	sacks (50 lbs.)	\$27,000		

VEGETABLES							
Cabbage (Total)		12.0				\$27,000	
Collards							
Fresh	*	12.0	370.00	4,440	doz. bunches	\$31,080	
Collards (Total)		12.0				\$31,080	
Cucumber							
Fresh	*	2.0	190.00	380	bu. (50 lbs.)	\$6,840	
Cucumber (Total)		2.0				\$6,840	
Irish Potatoes							
Fresh	*	3.0	75.00	225	cwt.	\$7,875	
Irish Potatoes (Total)		3.0				\$7,875	
Mustard (Fresh) (Total)	*	12.0	300.00	3,600	doz. bunches	\$25,200	
Okra (Fresh) (Total)	8	8.0	180.00	1,440	bu.	\$43,200	
Shallots (Total)	*	2.0	600.00	1,200	doz. bunches	\$8,400	
Snap Beans (Fresh) (Total)	*	3.0	100.00	300	bu. (30 lbs.)	\$9,000	
Southern Peas (Fresh) (Total)	15	20.0	100.00	2,000	bu. (24 lbs.)	\$50,000	
Squash (Fresh)							
Yellow Squash	*	2.0	200.00	400	bu. (45 lbs.)	\$8,000	
Squash (Fresh) (Total)		2.0				\$8,000	
Sweet Corn (Fresh) (Total)	*	45.0	700.00	31,500	doz. ears	\$110,250	
Tomatoes (Field) (Total)	*	5.0	750.00	3,750	lugs (20 lbs.)	\$75,000	
Turnips (Fresh) (Total)	*	12.0	300.00	3,600	doz. bunches	\$25,200	
Watermelon (Total)	*	40.0	150.00	6,000	cwt.	\$48,000	
Vegetables (Total)		178.0				\$475,045	
Wheat (Total)	*	780.0	67.00	52,260	bu.	\$171,413	
TOTAL ALL PLANT ENTERPRISES						\$114,555,821	
FISHERIES & WILDLIFE ENTERPRISES PRODUCTION							

FISHERIES & WILDLIFE ENTERPRISES PRODUCTION							
Fisheries	Number of Producers	Units of Production	Total Production	Units of Measure	Gross Farm Value		
AQUACULTURE							
Crawfish (Farm) (Total)	9	800 Acres in Prod.	292,000	lbs.	\$160,600		
Aquaculture (Total)					\$160,600		
Fur Animals (Total)			698	pelts	\$6,771		
Alligators (Wild) (Total)			712	ft.	\$21,375		
HUNTING LEASES							

RAPIDES PARISH	FISHERIES &	WILDLIFE ENTE	RPRISES PRO	DUCTION		
	Number of	Units of		Total	Units of	Gross Farm
Fisheries	Producers	Production		Production	Measure	Value
HUNTING LEASES						
Waterfowl (Total)	6	7,000	No. Acres		acre	\$350,000
All Other Game (Total)	290	307,800	Leased No. Acres Leased		acre	\$2,154,600
Hunting Leases (Total)			Leasea			\$2,504,600
Honey (Total)	*	750	No. Hives	48,750	lbs.	\$28,763
TOTAL ALL FISHERIES & Y	WILDLIFE ENTERPRISES			,		\$2,722,108
		IAL ENTERPRISES	PRODUCTIO	ON		
	Number of	Units of		Total	Units of	Gross Farm
Animal	Producers	Production		Production	Measure	Value
CATTLE & CALVES						
Steer Calves						
300-400 lbs.				3,078	head	\$1,640,836
400-500 lbs.				947	head	\$573,044
500-600 lbs.				473	head	\$310,801
600-700 lbs.				237	head	\$174,631
Steer Calves (Total)						\$2,699,312
Heifer Calves						
300-400 lbs.				3,078	head	\$1,439,811
400-500 lbs.				947	head	\$518,071
500-600 lbs.				474	head	\$293,705
600-700 lbs.				237	head	\$165,357
Heifer Calves (Total)						\$2,416,944
Yearling Cattle						
600-700 lbs.				650	head	\$4,014
700-800 lbs.				350	head	\$2,336
Yearling Cattle (Total)						\$6,350
Cow-Calf Pairs (Total)				1,175	pair	\$1,150,478
Cull Cows (Total)				1,935	•	\$766,947
Cull Bulls (Total)				45	head	\$41,762

Cattle & Calves (Total)	395	13,825	No. Cows			\$7,081,793
HORSES						
Brood Mares						****
Race Horses	60		No. Brood Mares		head	\$880,000
Show Horses	50		No. Brood Mares		head	\$380,000
Recreation Horses	20	75	No. Brood Mares	38	head	\$57,000
Brood Mares (Total)						\$1,317,000
Stud Fees						
Race Horses	10		No. Stallions		mares bred	\$750,000
Show Horses			No. Stallions		mares bred	\$397,500
Recreation Horses		5	No. Stallions	80	mares bred	\$40,000
Stud Fees (Total)						\$1,187,500
Race Horses (Total)	35			120	head	\$1,440,000
Show Horses (Total)	400			800	head	\$4,000,000
Recreation Horses (Total)	500			900	head	\$1,350,000
Horses (Total)						\$9,294,500
POULTRY						
Edible Eggs (Total)	6	150	No. Hens	2,550	doz. eggs sold	\$1,658
Poultry (Total)						\$1,658
RABBITS						
Fryers (Total)	20	14,000	No. Animals	56,000	lbs.	\$44,800
Does (Total)	20	7,000	No. Animals	28,000	lbs.	\$4,200
Rabbits (Total)						\$49,000
SHEEP						ŕ
Wool (Total)		85	No. Sheared	510	cwt.	\$128
Slaughter Lambs (Total)				70	head	\$11,126
Feeder Lambs (Total)				25	head	\$1,945
Show Lambs (Total)					head	\$9,000
Cull Sheep (Total)					head	\$1,100
Sheep (Total)	*	85	No.Breeding			\$23,298
			Ewes			4-2,
GOATS			2,,,,,			
Show Goats (Total)				50	head	\$11,250
Slaughter Goats (Total)					head	\$93,310
Stocker Goats (Total)					head	\$25,085
Cull Goats (Total)					head	\$8,700
Cuii Obato (10tai)				143	neau	\$6,700

ANIMAL ENTERPRISES PRODUCTION

Animal	Number of Producers	Units of Production	Total Production	Units of Measure	Gross Farm Value
Goats (Total)	40	800 No. Does			\$138,345
SWINE					
Show Pigs (Total)			50	head	\$14,250
Feeder Pigs (Total)			2,500	head	\$78,000
Slaughter Hogs (Total)			450	head	\$58,793
Culls (Total)			30	head	\$5,040
Swine (Total)	40	200 No. Sows			\$156,083
TOTAL ALL ANIMAL ENTERP	RISES				\$16,744,676

RAPIDES PARISH \$134,022,605